

18:20 Run 1875 UB = 41.56V I = 0.5×10^{11}
 $p = -47.3 \pm 2.4$ $\chi^2 = 1.33$

18:35 Run 1876 UB = 41.56V I = 0.51×10^{11}
 $p = -46.2 \pm 2.5$ $\chi^2 = 0.58$

18:53 Run 1877 UB = 41.56V I = 0.49×10^{11}
 $p = -46.4 \pm 2.1$ $\chi^2 = 1.17$

19:42 SB RUN 1878 WINSHIFT = 21 USER 3 I ~ 0.5×10^{11}
 $p = -42.3 \pm 2.4$ 25 MEV

RUN 1879 WINSHIFT = 20 USER 3 I ~ 0.5
 $p = -47.9 \pm 2.6$ $\chi^2 = 0.74$ 20 MEV

Run 1880 (must do target scan) User 1
 User 1 set to 799

20:59 Run 1881 User 1 I = $(0.54, 0.52) \times 10^{11}$
 $p = -37.2 \pm 2.2$ $\chi^2 = 1.08$

21:19 Run 1882 User 1 I = $(0.54, 0.50) \times 10^{11}$
 $p = -36.0 \pm 2.2$ $\chi^2 = 0.78$

21:46 Run 1883 User 4 I = $(0.52, 0.49) \times 10^{11}$
 $p = -37.0 \pm 3.1$ $\chi^2 = 0.95$